CHAPTER 2 Relations
2.3 Use Scatter Plots to Analyse Data
Scatter plots, dependent and independent variables, and outliers

Example: Concentration (pM/L} |Absorption {%)
1] a
a) Fern did a science experiment to test 20 4.7
Beer's Law, which states that as a solution 40 R
becomes more concentrated, light B0 13.48
absorption in the solution increases. His &) 18.2
data are shown. ldentify the dependent 100 21.4
variable and the independent variable. 120 27 A
140 39.7
b) Make scatter plots of these data using a 160 342
graphing calculator, a spreadsheet, and 180 37 0
statistics software. 200 176

¢) How does the value of the dependent variable appear to change as the
independent variable changes?

d) Ildentify any outliers in these data.
Solution:

a) The concentration is the independent variable. The absorption is the dependent
variable.

b) Graphing Calculator:




Spreadsheet

Statistical Software:

¢) The dependent variable appears to increase as the independent variable

increases.
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d) The data (140, 29.7) appear to be an outlier.




Practice:

1. The Scholastic Aptitude Test (SAT) score and SAT Score | Algebra Score (%)
first year algebra scores for 7 students are shown. 1100 a9

_ _ 1150 =1
a) ldentify the dependent variable and the 1200 a3
independent variable. 1260 85
b) Make scatter plots of these data using a Egg g?
graphing calculator, a spreadsheet, and statistics Ta00 o5
software.

¢) How does the value of the dependent variable appear to change as the
independent variable changes?

d) ldentify any outliers in these data.
Answers:

1. a) Independent: SAT Score Dependent: Algebra Score

b) First Year Scores
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¢) The value of the dependent variable appears to increase as the independent
variable increases.

d) The data (1250, 85) appear to be an outlier.



